DAY 1:

1) Describe the population and its behavior given by the function: C (t) = 150(1-045)t

Write the function above in the form: f (t) =ae"

2) There is a population of 23,450 insects, infected by a disease causing the population to
halve every 6 months. Write an equation representing this scenario.
HINT: Write the equation is the population halves annually then modify this equation.

3) Solve each equation for all solutions: A) X°=3 B) tan? (9) =3
4) Given coordinate points ( P, CI) & (V, W) write a linear equation in point-slope form.
5) Solve forx: IN(x)—In(x+3)=1

6) Find the inverse of f (X) =X"+2X-3.  Hint: vertex form
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7) Given the graph of f (X), identify: -

f(-1)
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Under the transformation given by —

1,(1

A) h(X):gf(E(X+1)j—4 B) g(x)=2f(3(x—4))+5

|dentify h(—l): Identify (—1)

Domain of h(X) : Domain of (X) :

Range of h(X): Range of Q(X):



